a=-1,b=2% 9, -3a+6b-3(b+2a) & Atstolzk.

—3a + 6b — 3(b + 2a)
= -3a+ 6b—-3b—-6a=-9a+ 3b
AL 5 —9x (-1)+3x2=9+6=15




y=-2x-3 4w, 3x-y-5%5 xof T340 t}epifjoiat,
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3x—(-2x-3)-5=3x+2x+3—5=5x—2




v A (3x—y) : (2x —4y) = 2: 3 Sy ©f Wslo] Eofzt
1— = .

| 2
> d™EH:

4x - 8y = gx — 3y
5y = —5x

Sy =-—X




4., 2%x-Ty+1=x-5y <, 2x+3y+4 5 yof TsHAo= LJeIY
ofet,
> CF

2x-Ty+1=x-5y & x o ®sto] A5t x =2y - 10|t}
—2x+3y+4=-22y-1)+3y+4=-y+6




5. (2r): (x-2) =3:19 W), T ) e Fajoek
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>
[> Xek: g
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3(x—2y)=2x+y
3x—6y=2x+y

x=TyolE& Foi Ao tjistH
2x+4y 14y +4y _@:3

xX=y Ty—y 6y




